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1 $Q20241070000002 B F 4416221988k wkkkkk
2 $Q20241070000009 i 4408041988k ks0ksktok
3 $Q20241070000011 B 4525241985k ks k0k%
4 $Q20241070000018 T 452225198 2skkskskksok
5 $Q20241070000020 W 140224197 Ptk
6 $Q20241070000024 i 4416241981 kkxskkkokk
7 $Q20241070000026 i* 360726199 | stttk
8 $Q20241070000039 A* 2 14242919905 kskkkkok
9 $Q20241070000045 H* 431124198 Tksksokskork
10 $Q20241070000058 T 4521311983 %ks0kskksok
11 $Q20241070000065 50 441322197 Ptk
12 $Q20241070000069 > 441481199 1 ssoksttsok
13 $Q20241070000070 i 3708261979k sk kk




